®
C
5
o
o
=
P
o,
&£
@
o
o
3

Linear Rail System Linear Rail System
SBG Standard linear rail system SBG Standard linear rail system
SBG-FL/FLL

. /L\

4-Q2
m> TR A
J
2R
ATTF " oo |L] -
wel ] | ! " | |\ U i
- o] H1 / :,"
[iEz5 ' B
[
B G F
L Lo
(Unit : mm)
Mounting dimension Block dimensions Rail dimension Basic load | Permissible static Mass
Mounting tap hole CGrease fitting Bolt hole e raﬁi,ﬂg momen -
Model | ylw | L& LTk Wi | w2 | Hi | F G |langth 1 [kN - m] B[';’C]k [kR‘;‘r'T']]
B|J|M|*s TIN1|T2 | N2| Q1 |*Q2 d | D | h Lo | C | Co | Mro | Mpo| Myo| "9 @
SBG15 FL 24 | 47 |608| 3 | 38 | 30 | M5 | M4 |388| 72| 21 | 4 5 | 45 | 45 | M4x0.7 | @4 15 16 15 60 45 | 75| 53 20 3000 | 833 | 134 | 0.07 | 0.05| 005| 0.18 | 145
SBG20 FL 30 | 63 | 772 |35 | 53 | 40 | M6 | M5 (508 | 9 |265| 7 | 98 | 7 5 | M6x0.75 | @6 20 | 215 | 175 | 60 6 95 | 85 20 4000 | 142 | 25 | 022 | 0.18 | 0.18 | 042 | 22
SBG20FLL | 30 | 63 |932| 35 | 53 | 40 | M6 | M5 | 668 | 9 |265| 7 | 98 | 7 5 | M6x0.75 | @6 20 | 215 | 175 | 60 6 95 | 85 20 4000 | 169 | 365 | 028 | 031 | 031 | 054 | 22
SBG25 FL 36 | 70 |89 | 65| 57 | 45 | M8 | M6 | 595| 10 |295| 82 | 98 | 81 | 55 | M6x0.75 | @6 23 | 235 | 218 | 60 7 1 9 20 4000 | 209 | 392 | 035| 031 | 03 | 062 | 31
SBG25FLL | 36 | 70 |106.4| 65 | 57 | 456 | M8 | M6 | 79 | 10 | 295| 82 | 9.8 | 81 | 55 | M6x0.75 | @6 23 | 235 | 218 | 60 7 1 9 20 4000 | 246 | 48 | 043 | 049 | 048 | 0.78 | 31
SBG30 FL 42 1 90 | 99 7 72 | 52 |M10| M8 | 704 | 12 | 35 | 85 | 10.7 | 85 | 55 | M6x0.75 | @6 28 31 25 80 9 14 12 20 4000 292 | 538 | 059 | 049 | 048 | 1.1 4.45
SBG30FLL | 42 | 90 (1215 7 | 72 | 52 | M10 | M8 | 929 | 12 | 35 | 85 | 10.7| 85 | 55 | M6x0.75 | @6 28 31 25 80 9 14 12 20 4000 | 353 | 679 | 074 | 079 | 078 | 144 | 445
SBG35 FL 48 | 100 |1126| 75 | 82 | 62 |M10 | M8 [ 804 | 13 |405| 8 |10.7| 8 6 | M6x0.75 | @6 34 33 29 80 9 14 12 20 4000 | 388 | 686 | 094 | 074 | 072 | 157 | 64
SBG35FLL | 48 | 100 |138.1| 75 | 82 | 62 |M10 | M8 |[1059| 13 |405| 8 |10.7| 8 6 | M6x0.75| @6 34 33 29 80 9 14 12 20 4000 46 | 904 | 124 | 13 | 128 | 214 | 64
SBG45 FL 60 | 120 [140.4| 10 | 100 | 80 | M12|M10| 98 | 15 | 50 | 10 | 11 | 10 | 8 PT1/8 | @6 45 | 375| 38 | 105 | 14 20 17 | 225 | 4000 | 616 | 110.6| 1.98 | 156 | 1.54 | 2.96 | 11.25
SBG45FLL | 60 | 120 (172.4| 10 | 100 | 80 |M12 [ M10 | 130 | 15 | 50 | 10 | 11 | 10 | 8 PT1/8 | @6 45 | 375| 38 | 105 | 14 20 17 | 225 | 4000 | 755 | 1385| 245 | 233 | 23 | 375 | 11.25
SBGS5 FL 70 | 140 [164.8| 13 | 116 | 95 | M14 | Mi2 | 118 | 17 | 57 | 12 | 11 [105| 10 | PTi/8 |PTi/8 53 | 435 | 45 | 120 | 16 23 20 30 4000 | 91.2 | 156.9| 337 | 2.69 | 2.65| 449 | 1525
SBG5S5FLL | 70 | 140 |202.8| 13 | 116 | 95 |M14 |M12| 156 | 17 | 57 | 12 | 11 |105| 10 | PTi/8 |PT1/8 53 | 435 | 45 | 120 | 16 23 20 30 4000 | 111.8| 196.6| 4.19 | 4.05 | 3.97 | 568 | 1525
SBG65 FL 90 | 170 {195.2| 17.5 | 142 | 110 | M16 | M14 | 147 | 23 |725| 15 | 11 | 12 | 10 | PT1/8 |PT1/8 63 | 535 | 585 | 150 | 18 26 22 35 4000 | 147.9| 240.1| 6.17 | 485 | 475| 87 | 239
SBGESFLL | 90 | 170 |255.2| 17.5 | 142 | 110 | M16 | M14 | 207 | 23 |725| 15 | 11 | 12 | 10 | PT1/8 |PT1/8 63 | 535 | 585 | 150 | 18 26 22 35 4000 | 189.1| 3204 | 818 | 834 | 814 | 95 | 239
@ C (Basic dynamic load rating), Co (Basic static load rating) ® *Q2: The hole of side grease nipple is not made to prevent a foreign substance from going into inside.

@ *S: Bolt size for bottom mounting type of block When you order the side grease nipple, we build it by ourselves.

@ /100 @ /101



